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QUESTION 1

Which of the following is NOT true about autocorrection?

A. Required with nonatomic materialization

B. Can reference Replication Definitions that include the replicate minimal columns clause

C. Converts update to the replicate table to delete followed by insert

D. Eliminates duplicate key errors that could be caused by users changing primary data during materialization

Correct Answer: B

QUESTION 2

Which of the following are TRUE about RepAgent? (Choose 2)
A. It moves the primary truncation point.

B. It is an Adaptive Server Enterprise thread.

C. It reads the primary database transaction log.

D. It applies transactions to the replicate database.

E. It maintains referential integrity.

Correct Answer: BC

QUESTION 3

Which of the following is TRUE when creating a route from a primary eplication Server using an ERSSD to a destination
Replication Server?

A. A Rep Agent must be created in the ERSSD prior to issuing the route command.

B. The name of the Rep Agent must be added to the local interfaces file.

C. The user specified in the create route command must exist in the primary Replication Server.
D. The destination Replication Server must also be using an ERSSD.

Correct Answer: B

QUESTION 4
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Which of the following are prevented by having Replication Definitions specifying replicate minimal columns? (Choose
2)

A. Warm Standby

B. Default function string
C. Custom function sting
D. Autocorrection

E. Publication

Correct Answer: CD

QUESTION 5

Which of the following statements is TRUE about Warm Standby?
A. Both DML and DDL may be replicated

B. Stored procedure replication is not supported

C. Warm Standby cannot replicate slow bcp

D. Warm Standby requires subscriptions for each table replicated

Correct Answer: A

QUESTION 6

Which of the following thread types is responsible for serializing transactions?
A. DIST

B. DSI

C. RSI

D. SQM

E. SQT

Correct Answer: E

QUESTION 7
Which of the following configuration options will have the greatest effect on transaction ordering in the Inbound Queue?

A. Cm_max_connections
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B. Num_concurrent_subs
C. Smp_enable

D. Sqt_max_cache_size
E. Sts_cachesize

Correct Answer: D

QUESTION 8

Which queue is used by Warm Standby?
A. Materialization

B. Dematerlization

C. Inbound

D. Outbound

Correct Answer: C

QUESTION 9

What happens if a table in a non-Warm Standby environment is marked for replication and no Replication Definition
exists? (Choose 2)

A. Replication Server writes an error to errorlog and the DSI is suspended.

B. The rep agent will shut down.

C. Transaction remains in inbound queue.

D. The data is sent to Replication Server and then discarded.

E. The data is sent to Replication Server and then replicated.

F. Replication Server writes an error to the errorlog each time a transaction is received from that table.

Correct Answer: DF

QUESTION 10
After all articles have been created for a publication, what must be done before you can subscribe to the publication?

A. Validate publication
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B. Validate subscription

C. Suspend and resume the primary database connection
D. Suspend and resume the replicate database connection
E. Suspend and resume the route

Correct Answer: A

QUESTION 11
Which of the following is TRUE regarding the primary key parameter of a Replication Definition?

A. The columns specified are used to compose WHERE clauses for update and delete statements to apply to the
replicate database.

B. The columns specified are necessary to define the primary key of the replicate table.
C. The columns specified must be the primary key of the primary table.
D. The columns specified require an index, primary key constraint, or unique constraint.

Correct Answer: A

QUESTION 12

Which of the following tables contain the Replication Server exception log? (Choose 3)
A. Rs_systext

B. Rs_excepthdr

C. Rs_msgs

D. Rs_locater

E. Rs_exceptscmd

F. Rs_recovery

Correct Answer: ABE

QUESTION 13
RepAgent error messages are recorded in the?
A. Adaptive Server errorlog.

B. Replication Server errorlog.
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C. Stderr.
D. Backup Server errorlog.

Correct Answer: A

QUESTION 14

Which of the following items must be associated with a connection?
A. Function

B. Function instance

C. Function string

D. Function string class

E. Parent class

Correct Answer: D

QUESTION 15

Which of the following statements are TRUE about the Origin Queue ID (OQID)? (Choose 3)
A. Only table and stored procedure replicate rows contain an OQID.

B. It used by Replication Server for loss detection.

C. Itis used by Replication Server for duplicate detection.

D. The generation ID used to generate the OQID is captured in database backups.

E. The generation ID used to generate the OQID is captured in transaction log backups.

Correct Answer: BCD
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